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04 FN2ELSZ=TH| 3,600 3,600 0
ORN2ZIRFLH (HE20€0l0H)
300,000& x12& 3,600
405 RHoHE S HI 4,120 1,700 2,420
01 AL EFFH S 4,120 1,700 2,420
O==2X WH 240,000 =124 2,880
Oolaa b ¢ 600,000 14 600
O3J18&8I #¢ 640,000 =14 640
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SN RNIS

Hu: HFSAAH (TNIS)

¢l =gl CEE-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %E& HRE2
OAaBAI-otA 22l &t 120,000& ~12& 1,440
202 04d| 43,680 43,680 0
01 2L HI 43,680 43,680 0
O2LH O bl 280,000 x 13 x12& 43,680
203 R F & 8,940 8,940 0]
01 JI22HEYFFEAH| 5,940 5,940 0
OSZ (el 38 018H) 6,600,000& *90% 5,940
04 EASHEIRFAH| 3,000 3,000 0
OBAM2IIL2 =X (1521 0/8t)
250,000& x12& 3,000
405 Ko SHI 17,240 740 16,500
01 XAt 2 Z F S| 17,240 740 16,500
O3loal(2s) HIZE ¢ 14,300
-3 o Z2EX 300,000 x20H 6,000
—-3lolZ 9 Xt 160,000& *50H4 8,000
— AFS| CH 300, 000& =14 300
OO0l A =HYU I AIAEH el
2,300,000 =1CH 2,300
O2J1&8d)] ¢ 640,000 1 CH 640
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t

el Ml 2 &A)
BB - S (31) - MRAY - BES il 2
254,510 209,948 44,562
H JIBrd 3 (RA2S) 153,660 112,140 41,520
dg 29 W 153,660 112,140 41,520
& asd X3 140,400 98,400 42,000
301 LPEAZF 140,400 98,400 42,000
05 8% -0 -tH¥ESE4S 140,400 98,400 42,000
os&d=¢ 300,000& x30H 123 108,000
Os&&N 300,000& 30K »23| 18,000
Oos&3al9 =g 20,0003 «30H 23| x 128 14,400
FoUXXE 29Y 4,500 4,500 0
201 Let24d] 4,500 4,500 0
01 At 22l 4,500 4,500 0
OFQURXLHs sl
15,0003 25 «12& 4,500
SMFA & e 8,760 8,760 0
201 Let2d] 8,760 8,760 0
02 2324l 8,760 8,760 0
OsAtZd S X 2,000
Od =zl 1,500
OXtg R A2l 2,500
OsA &9y 110,000 1200 & 1,320
OSRUGAAH & 2H| 120,000& 128 1,440
HE2IZH(RMN2S) 100,850 97,808 3,042
Jl=3l 100,850 97,808 3,042
JlE2&l 100,850 97,808 3,042
201 LBt 35,600 35,120 480
01 At 22l 21,100 20,620 480
Oger==gH| 12,000,000& *95% 11,400
ozg=¢ 500
OAIIAZEX SAHl 8,000 x54 15« 12& 7,200
OsSgaaLal 223 2,000,000 = 1CH 2,000
02 =224l 14,500 14,500 0
03323 KAl 14,500
202 odl 50,400 47,040 3,360
01 = LH o4 1l 50,400 47,040 3,360
O2U ol 280,000& x15H x12& 50,400
203 YR =&l 10,110 10,110 0
o223y &l 7,110 7,110 0
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AH2S
H™2AAY (TA2S)
o=

SA - BB e (31 - Ea= il

Os& (217820 7,900,000& x90% 7,110

04 RFN2EHRFA 3,000
ORNM2ZE2FAHI(1521015t)

250,000& x12& 3,000

405 XHoHE S HI 4,740

01 HALSEH S| 4,740

SEBIE-F<b] 640,000 *1CH 640

OMa 2¢ 500,000 =14 500

O==2X WH 240,000& * 1504 3,600
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FH =245
HM: H¥2HAH (B2EE)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OZ2Z222 ¥ HMA 4,750
202 04d| 20,160 20, 160 0
01 2L HI 20,160 20,160 0
O2LH O bl 280,000 x6H x12& 20,160
203 R F & 8,040 8,040 0]
01 JI22HEYFFEAH| 5,940 5,940 0
O=S & (el338H0|et) 6,600,000 *90% 5,940
04 EASHEIRFAH| 2,100 2,100 0
OBAN2EAR=XHI (HK10010]5t)
175,000 «12& 2,100
405 XHAHFI S HI 7,020 3,800 3,220
01 XAt 2 Z F S| 7,020 3,800 3,220
O3 oAl (2XA) X 7 66,000& 504 3,300
OLE=S ZEH P¢ 1,150,000 = 1CH 1,150
O2J1&8d)] ¢ 640,000 =1 CH 640
OLZ9 X WH 240,000 =74 1,680
OAMS L 2¢ 250,000 =14 250
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